20258 = =0k LBt

Al

Ol &F A

Al A

SH: =NEY
MR MY MASXI|B P
cel: SXNHEHA =g (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 7,020,254 7,011,085 9,169
= 955,074
[ a7, 177
Al 1,900,802
- 4,067,201
0" JA=IPIEE 2= 3,328,049 3,204,713 123,336
= 19,074
[ 97,177
Al 964,402
- 2,247 ,3%
SXHEMA = 1,785,125 1,698,089 87,036
= 10,000
= 63,792
Al 154,921
- 1,556,412
MIE2EEAN 2 82,568 76,772 5,7%
Al 2,500
- 80,068
201 2= 31,016 26,940 4,076
Al 2,500
- 28,516
01 At2t2ltl 9,516 10,440 A924
Oggt=ZH| 3,300
OYXIE XSAZ2EAHIE I I
10,0002 *70=% 700
OXISASIEFE M 3I2XtE QI
10,0002 *70=+33] 2,100
OXSA22EE AN 2823 7
500,000 500
o=g=+g 6,216
OUEEAM 2=
70,0002 x21H *32| *x80f% 3,528
O&REH 2lo+<
70,0002 * 16 32| *x8fk 2,688
03 Ar=EHI 21,500 16,500 5,000
OXIAMEEEAM(F, S) FAS 15,000
OF NFARI2HE AN A2E
9,000,000 9,000
O NFAE M A3E
6,000,000 6.000
OAR2E1 A 1,500,000& 1,500
OXNSA 2 ZE M Aefdst AHelA
5,000,000& 5,000
Al 2,500
- 2,500




S =XEHD
MmUY MR=XI|E 2

crel: SXMLHN (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 900 1,800 A900
03 A=A 2= 900 1,800 2900
OXNSA2I2ZEAN 24
900,000 900
301 EetE2 N = 33,552 32,032 1,520
4 IIE2d=s 33,552 32,032 1,520
O&S=ZURAE 2SEA AH|I24
20,0002 87 H+63] *80% 8,352
O NSA 2SN 2oF3A AH|2d
20,0002 x105H 123 25,200
307 elztol & 17,100 16,000 1,100
11 AMEISXAIEEXS 17,100 16,000 1,100
O NSA2HEAN SAAZAL &=
SZAH 17,100,000 17,100
NI NN 128,140 123,940 4,200
Al 95,900
- 32,240
201 =3 15,240 14,940 300
01 At2t2lt] 3,900 3,600 300
Ogt=3H| 3,900
OAE MAF I
100& *5,00001*35 1,500
O"”AL S+ W& 50,0002 = 100K 500
OMo S H = I o1
20,0002 ~80& 1,600
OAISIEXIAIE BEAA HEIH 7
100,000 *3H 300
02 S3=gHl 11,340 11,340 0
O0s&sR= € MA 11,340
Oi=es eBIRBERS
900,000& * 122 10,800
ONiS Skt STILSAIAE SHEI| A
g= 45,0003 122 540
202 04t 1,500 1,500
01 =LHOHI 1,500 1,500
o220l 1,500,000& 1,500
203 =4l 5,500 5,500
03 A=A 2= 5,500 5,500
O=Tus= AlH =8 5,500,000& 5,500
307 lztol & 105,900 102,000 3,900
Al 95,900
T 10,000
04 QIZHHAMAMH 2 & 10,000 10,000 0
OARISAIAIE - J|2 SAHL et0tSUal
10,000,000 10,000
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SINESES N}

M MO H=NI|Y 7S
crel: SXMLHN (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 95,900 92,000 3,900
OARISXIAIE SAL HES SKIEUE
A& 95,900,000& 95,900
Al 95,900
ANZERHE 2S(HEAY) 1,380,983 1,331,997 48,986
301 EtE NS 1,380,983 1,331,997 48,986
10 AR =224 1,380,983 1,331,997 48,986
oNE=RR 22 1,380,983
OJ|=S(REAR)
1,200,000 «80E * 12& 1,152,000
OLSHI(HEAIY)
3,2003 +80EHx20L « 12 61,440
OTI=HI(HEFAL) 309,840& »45&H 13,943
OsAl 8,000 <8020 « 12 153,600
Lisdd ) 29 1,500 1,500 0
201 fer= 3| 1,500 1,500
01 AtR2tc|HI 1,500 1,500
CHEER=1] 1,500
OLisYaED 24 22X &8 H% S
93, 7502 +8IH A #22] 1,500
AZ7 SEAtdl2tel K& 17,700 17,700 0
= 7,500
Al 3,750
- 6,450
201 el 8,400 8,400 0
s 4,200
Al 2,100
- 2,100
01 At2t2l] 8,400 8,400 0
oggt=ZH] 4,400
OAldI22IANY 2823 712 & 24|
2,400,000& 2,400
= 1,200
Al 600
- 600
O3L=NNH 2823 7
1,000,000 1,000
fas 500
Al 250
- 250
OX0opte U= 2= L &
225 7Y 1,000,000 1,000
= 500
Al 250
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OIS MR=TD|E P

CHolr SXMUH B (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 250
o=gH| 4,000
OAtei2tel E8it s & A&
3,000,000& 3,000
s 1,500
Al 750
- 750
OSEAd3S ARHRIt U2 =<
100,000 *43] 400
= 200
Al 100
- 100
OSSAtdZeAb nFsEat|
100,000 3 »23] 600
= 300
Al 150
- 150
202 04l 900 900
01 =LHAHI 900 900
OSEAtHIZEIAF WS 0|
150,000 3 »23] 900
203 =8| 1,800 1,800
03 A= PR FZI| 1,800 1,800
O3L=XNXNEH SLFAHI
1,800,000 1,800
301 LEIE NS 5,600 1,600 4,000
s 2,800
Al 1,400
- 1,400
01 Al 2E AL S(FREXM) 5,200 1,200 4,000
OAtli2tel tHatkt HEX2H|
5,200,000 5,200
s 2,600
Al 1,300
- 1,300
14 JIEt2 8= 400 400 0
OXNSESHAZE 400,000& 12 400
s 200
Al 100
- 100
307 212+01& 1,000 5,000 4,000
= 500
Al 250
- 250
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X XH -
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OIS MR=TD|E P

crel: SXMLHN (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0192 & =4l 1,000 5,000 24,000
OAIZE TIATE 22 % 25|
1,000,000& 1,000
fas 500
Al 250
- 250
SHS XEE SEAMHIA XEH 80,418 78,980 1,438
= 56,292
Al 12,063
- 12,063
201 er23 | 40,209 39,490 719
s 28,146
Al 6,032
- 6,031
01 At22t2l] 40,209 39,490 719
OS AtdZelAe 22|
40,209,000 40,209
s 28,146
Al 6,032
- 6,031
307 elztol & 40,209 39,490 719
= 28,146
Al 6,031
- 6,032
012z € 2/=H] 40,209 39,490 719
Os AtdlZelAte X 40,209
OAtdi2eltaAt 2l & F1SH|
40,209,000 40,209
= 28,146
Al 6.031
- 6,032
SNARIAN 2= =8 4,400 3,600 800
201 er23 | 4,400 3,600 800
01 At2teltl 4,400 3,600 800
Ogt+=ZH| 2,600
OSSN = E2=8 M
1,800,000 1,800
O0IZ&Il & R34 2 7
100,000 «8H 800
ostist 24 1,800
OgliA=sAsFES €32
5,000 150 750
O3 (M3A2E =8 8) 7
3,000& 150 450




S =XEHD
MmUY MR=XI|E 2

el SXNYH =g (crol: m2)
SA - BB - SRAGEH) - NS - BES i s
|  osxo mx 50,0002 * 123 600
DEAL XFEE AtllZel (Al "D SEE 1210t7) 69,416 63,600 5,816
Al 34,708
T 34,708
307 212t01 & 69,416 63,600 5,816
Al 34,708
- 34,708
1M ARRISXAIEE X 69,416 63,600 5,816
OXEE AtdllZelAtd Q12|
2,894,000 1~ 123 34,728
Al 17,364
- 17,364
OXEE AtdllZelMg AtH|
34,688,000 34,688
Al 17,344
T 17,344
ISAH g2 K& 20,000 0 20,000
= 10,000
Al 6,000
T 4,000
301 E2E = 15,000 0 15,000
= 7,500
Al 4,500
T 3,000
01 MBI EEAG6IZ2(2REZTHA) 15,000 0 15,000
OLN=A ?lg=2 XE 11,500
Ogrsiolg 22 1
6,000,000& 6,000
= 3,000
Al 1,800
T 1,200
OuzzzE KA 5,500,000& 5,500
= 2,750
Al 1,650
T 1,100
O¢eIAotMat gt AlH|(wEH|, AlHl)
3,500,000& 3,500
= 1,750
Al 1,050
T 700
307 212t01& 5,000 0 5,000
= 2,500
Al 1,500
T 1,000




2A:

SINESES N}

I EOE HA=XI|P D=
CHolr SXMUH B (Shol: % 2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
11 AR SXAMEEER 5,000 0 5,000
OABHL Ba U NS
5,000,000& 5,000
= 2,500
Al 1,500
- 1,000
SXAMEIA 88 =4 1,009,391 1,049,388 A39,997
Al 768,901
- 240,490
SEAEIENZ 29 1,009,391 1,049,388 A39,997
Al 768,901
- 240,490
201 L2 | 3,000 3,000
2 S=29| 3,000 3,000
OZEAEI =X AlLZHIS ]
3,000,000& 3,000
203 RF=&Y| 900 900
03 A Z=ZIHS =AY 900 900
OS2 =RE 22 K&
900,000 900
307 QI2Hol ™ 1,005,491 970,483 35,003
Al 768,901
- 236,590
05 QIZtRIErZ 805,901 768,209 37,692
O At2|=X2 o1l ¥ 29|
805,901,000& 805,901
Al 725,311
= 80,50
10 ABIS RN AHE 2SI 2 199,500 202,279 A2,689
OBEMEIZXIR BAR £
43,590,000 43,590
Al 43,590
omE =X 2|
146,000,000 146,000
OFHUT N2 23| 10,000,000& 10,000
FASAH 243 At 533,533 457,236 76,297
= 9,074
s 33,385
Al 40,580
- 450,4%
HESAH ZCUI0IH R - =4 85,917 82,400 3,517
= 33,385
- 52,532
307 212+01™ 85,917 82,400 3,517
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SINESES N}

M FOE A=K =
el X2SA 243 AlY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 33,385
T 52,532
05 2ItRIE = 85,917 82,400 3,517
OXASAHE ZCIUI0IE 21248]
85,917,000& 85,917
= 33,385
- 52,532
d= S§ ANESAMEE It AblA X 18,148 17,570 578
= 9,074
- 9,074
307 212+01& 18,148 17,570 578
= 9,074
- 9,074
05 2IIRIE =2 18,148 17,570 578
ONASANEEE K& 18,148,000& 18,148
= 9,074
- 9,074
AESAHAE 29 362,588 250,366 102,222
201 Let=Ehl 2,400 2,400 0
01 AtR2t2|HI 2,400 2,400 0
oget=SHI 2,400
ONSAMUEM FES Z2EI M=
100,000 +24H 2,400
307 elztol & 272,188 247,966 24,222
05 21t S 272,188 247,966 24,222
O(A)SEZAANSATASAHIEH 29
272,188,000 272,188
401 Al HIZ S OHbI 75,000 75,000
01 AlZ2H| 75,000 75,000
ONHASAHE A2 &5
75,000,000 75,000
405 AHAHE S 3,000 3,000
01 AL =S F=H 3,000 3,000
OXASAHEH (ZEWT)HZD 7 3,000
OWHZD 7&(1,0002/1EH 0l4)
3,000,000 3,000
AHESAHHIAE S4 2435t 64,000 94,000 30,000
Al 35,000
- 29,000
307 212+01& 64,000 64,000 0
Al 35,000
- 29,000
05 2ItRIE =2 64,000 64,000 0




S SXEBD

M HOE M=) 7S
el TESA 2435 A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXHESAt HIAE St gdst
64,000,000& 64,000
Al 35,000
- 29,000
2FLH3 29 5,880 5,900 A0
Al 5,580
- 300
307 212+01& 5,880 5,900 A0
Al 5,580
- 300
10 AlRISTIAIEEE 22X 5,880 5,900 A0
O3 23 5,880,000 5,880
Al 5,580
- 300
HENESAIZ2S 243tAIE 7,000 7,000
307 gl2to| & 7,000 7,000
02 QIZHEAAEE X 7,000 7,000
Oz 4all Hols 2atME o
7,000,000 7,000
=D =MEEHM S Hazd 1,241,250 1,577,250 A336,000
= 936,000
Al 172,000
- 133,250
=D | =2 HAY 1,241,250 1,577,250 336,000
= 936,000
Al 172,000
- 133,250
28=A 1,170,000 1,506,000 336,000
= 936,000
Al 117,000
- 117,000
301 EetE NS 1,170,000 1,506,000 A336,000
= 936,000
Al 117,000
- 117,000
01 Al EE A S (2 REXMR) 1,170,000 1,506,000 A336,000
O2==X XNEAME 1, 170,000,000 1,170,000
= 936,000
Al 117,000
- 117,000
SHE 25=X(129) 70,250 70,250 0
Al 55,000
- 15,250




A SXNEH
. DT EENE WE2E
ERl: FeD|IZYEEFHAIY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 1,500 1,500
01 2LHoIH 1,500 1,500
o220l 1,500,000& 1,500
301 LEtE N = 68,750 68,750 0
Al 55,000
- 13,750
02 NBI2HHSFS(HAAS, NLHE) 68,750 68,750 0
Os¢E 2=S5X(129) 68,750,000& 68,750
Al 55,000
- 13,750
SN X5 SEZAt2C 1,000 1,000
202 04l 1,000 1,000
01 SLHoIH 1,000 1,000
o220l 1,000,000& 1,000
=I)t2& 2l € A& 2,248,479 2,022,038 226,441
Al 764,400
- 1,484,079
223y X2 2,248,479 2,022,038 226,441
Al 764,400
T 1,484,079
SEHA & R3S XA 2,248,479 2,022,038 226,441
Al 764,400
- 1,484,079
201 er23| 14,590 14,590
01 AtR2t2|HI 6,260 6,260
Odgt+=H| 6,260
OE232 goas 380,000 62 2,280
O=szl2 489 d 24
2,000,000& %12 2,000
OF=32 #A AES
40,0002 128 480
O= &3/ Hibl SX=
25,000 x50 A+ 128 1,500
2 S52g4l 8,330 8,330 0
0=32=  HAl 3,330
OE2AgY 2Bl 7=
22,0003~ 122 264
OF=z3a dllks
250,000 * 128 3,000
Ot 4l HIdE S8 SU=
5,500 1= 122 66
OAEEHIS X 5,000
OE2z2 AIERAl 5,000,000& 5,000
203 =4l 900 0 900




A SXEH
Hy: PE 22 L N
o2l B2 X (EEEE))
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
03 A=A 2 FAIH| 900 0 900
o=ZsHH =g K& 900,000 900
301 LeEN= 1,985,440 1,755,440 230,000
Al 764,400
T 1,221,040
02 AR 2R GIZ(FHAAE, RLTHR) 1,984,000 1,754,000 230,000
CElat SE(E, =4) 92
20,0003 x1,250H 23] 50,000
O=II2E2UaL BEaz 1,934,000
OB0Al Ol EE 0=
200,000 +180F « 12 432,000
Al 302,400
T 129,600
OB80Al OIS HEAN =
150,000 350 « 12 630,000
Al 462,000
- 168,000
O=22UdA 22d0+=<
120,0003 600 « 122 864,000
OBEREA AERAZS
200,000& »40H 8,000
11 HAIMHIXI RS 1,440 1,440 0
OSESRIA #AHS1E, 25F) 4T A
HIE 4 80,000& x9 & *22] 1,440
307 212t01™ 247,279 246,708 571
02 QB EANGEX 130,260 131,484 N1,224
ouei=40lzE=2l S71X2 20,230
OSEE &bl 1,050,000& 1,050
O&FR el A 4,680,000 4,680
O3 2Z2AH A} 4,000,000& 4,000
OSEY 2A2M 7,200,000 7,200
Ogsiteg 2| 3,300,000 3,300
olstImd=zdREd =72 12,8%
OE =g ZtH 1,050,000& 1,050
OBHXl =cll A 2,000,000& 2,000
O=2& AZH A 2,200,000 2,200
OsEg A2&A 4,400,000& 4,400
(O5.82tUI01 & AL 2,705,000 2,705
O==2 SAES 540,000 540
oUgI=2d==230|2els E41X3 11,634
OssE bl 1,050,000 1,050
O&AX =cll=A 4,784,000 4,784
O3 2AZ2AH A} 2,200,000 2,200
OssL FA=2dA 3,600,000 3,600
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2A:

I 2jTs 22l 2 N
o2l B2 X (EEEE))
SA - BE - C9(3H) - KA - BES Ol &t e B2
Os4 650222 BEa2h
3,430,0002 3,430
OS2AAAIZHSI| 2SEE 13,005
OB=s| TN HAN DIT2 I
13,005,0002 13,095
(B I B LA 2% 117,019 115,224 1,79
CUEEENIEEEIEEbE- 16,560
ONSY 2| 16,560,0002 16,560
CEEENEEE EET T 15,410
ONSa 22| 15,410,0002 15,410
O EHEREEEIEEIEEI 15,410
ONSY 2| 16,410,0002 16,410
oUEIRLTAERE ST 15,410
ONSa 22| 15,410,000% 15,410
OCHBtRI=6 BETSENE =3 16,011
ONSY 2| 16,011,0002 16,011
oI DAHESE ST 15,410
OARa 2| 16,410,0008 15,410
OUstaIRY LR[S =R 13,628
ONSY 22| 13,628,000 13,628
CUEEEFIEEEpEIETS 9,180
OARa 2| 9,180,0002 9,180
402 IR0 A 270 3,000 ~2,7%0
01 DI = AT & (A ) 270 3,000 ~2,7%0
OCh 801 =6 258 H S 2R 3] 270
ORIIHIE PLANSE oK)
270,000 270
SY2IFHI(SNZH) 202,476 207,084 A4,608
SEET] 130,912 138,376 1,5%
PP 130,912 138,376 1,5%
101 e12AH] 130,912 138,376 1,5%
01 2 8,312 84,209 2,103
NS
12,4421+ 162 <35I 21+ 122 8,312
02 DI TS 53,600 54,167 AB67
07123 12,2%
O 82 (&)
48,306, 136:2+35/40+12} 12,2%
CRIEFS 480
Ol 83 (A1) 480
RES 40,00081x1 24122 480
CIpIE 849




SN =XFED
M HYRAZH(SXFHL)
&2l I 2| (CH9: &S1)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
OAIZHH 82 (&)
48,336, 1362 x35/40+ 1/ 12x84%+86%+1/30+ 102!
849
(OESN) s=t s 4,375
OAIZHM 82 (&E)
10,4162 *x30A| 2H+1H* 122 4,375
OS2 F+E 2,031
OAIZHHl 82 (&E)
48,336, 13621/ 1284050+ 1H x 122 2,031
(OFSRUE=Eal 1,680
OAIZHHI 82 (&)
140,000 x1&* 122 1,680
OXg2xH] 1,890
OAIZHHl 82 (& E)
180,0002x35/40x 1+ 12& 1,890
Jl=23sl 62,564 68,708 6,144
JI23Hl 62,564 68,708 6,144
201 et 3| 26,624 24,128 2,4%
01 AtR2tc|bI 26,624 24,128 2,4%
Oggt==H| 4,160
OJIZARESE 7Y
5,0002*188 * 122 1,080
OJI==SHEES 78 300,000 300
OSAESA 2 20,0003 758k A} 1,500
OtI2H=E 15,0002 x65* 122 1,080
OZEH & ARI1DI =2l
200,000 200
(CF=E 22,464
OJl2gexd g4l
9,000 x182*10* 122 19,440
OAIZFEERH LIIH LRFE sS4
9,000« 1 *102* 122 1,080
OZRA(SEAtZCIAL) S4H
9,000 x3+6L 12 1,944
202 048l 23,040 31,680 A\8,640
01 =LHOHI 23,040 31,680 A\8,640
OJI2ERFN 2UHEE 0
20,0002 x 1842 x 122 17,280
OAIEEH LIIH 2LHESZE O
20,0003+ 1H 62123 1,440
ORI (SEAtHZEIAL 2UHSF I
120,0002 =3+ 12& 4,320
203 =4l 7,500 7,500
01 J[2=2EEF LI 3,300 3,300
o=% 3,300,000& 3,300
M EASHLRFAH 4,200 4,200 0
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&t JI=Z

RN - I BRA(E) - HRA - BES of v A
©2521 0lat 350,000 123 4,200
204 MRt AH| 5,400 5,400
01 Mg R3] 5,400 5,400
o=z 350, 00021 <128 4,200
(OFLES, 100,000 «12& 1,200




